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Progress Check

1. Right circular cone is a solid obtained by

revolving ……. about ………

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zkEUcbOg7bEV


Watch Video Solution

2. In a right circular cylinder the axis is ……. to

the diameter.

Watch Video Solution

3. The difference between the C.S.A and TSA of

a right circular cylinder is ___.

Watch Video Solution

https://dl.doubtnut.com/l/_zkEUcbOg7bEV
https://dl.doubtnut.com/l/_wezzKBz0I91b
https://dl.doubtnut.com/l/_RS84uwdcVKDE
https://dl.doubtnut.com/l/_sETtcOoaTe0v


4. The C.S.A of a right circular cylinder of equal

radius and height is ……… the area of its base.

Watch Video Solution

5. Right circular cone is a solid obtained by

revolving ……. about ………

Watch Video Solution

https://dl.doubtnut.com/l/_sETtcOoaTe0v
https://dl.doubtnut.com/l/_gkg0RLiZC1Um


6. In a right circular cone the axis is ____ to the

diameter..

Watch Video Solution

7. The difference between the CSA and TSA of a

cone is ___.

Watch Video Solution

https://dl.doubtnut.com/l/_U2APJ7snrAfb
https://dl.doubtnut.com/l/_SEJLWkrfEG4P


8. When a sector of a circle is transformed to

form a cone, then match the conversions

talking place between the sector and the cone.

Watch Video Solution

9. Every section of a sphere by a plane is a

………… .

Watch Video Solution

https://dl.doubtnut.com/l/_Aromvl9HAxLD
https://dl.doubtnut.com/l/_i0cFxoWqCG1s


10. The centre of a great circle is at the ____ of

a sphere.

Watch Video Solution

11. The difference between TSA and CSA of

hemisphere is _____.

Watch Video Solution

https://dl.doubtnut.com/l/_MwRDGCxnQLay
https://dl.doubtnut.com/l/_qUk8G3UGj47b


12. The ratio of following area of a sphere and

CSA of hemisphere is ___.

Watch Video Solution

13. A section of the sphere by a plane through

any of its great circle is ____.

Watch Video Solution

https://dl.doubtnut.com/l/_gkbJe2MYMlYn
https://dl.doubtnut.com/l/_L6Bn1Q2JqY0y


14. The portion of a right circular cone

intersected between two parallel planes is

……….

Watch Video Solution

15. How many frustums can a right circular

cone have?

Watch Video Solution

https://dl.doubtnut.com/l/_iuh5vI6aohQt
https://dl.doubtnut.com/l/_owcYpZfVd7sZ


16. Volume of a cone is the product of its base

area and ……….

Watch Video Solution

17. If the radius of the cone is doubled, the

new volume will be ………….. times the original

volume.

Watch Video Solution

https://dl.doubtnut.com/l/_T8O5xMPHCDam
https://dl.doubtnut.com/l/_kCFVRKmRDo48


18. Consider the cones given in figure. 

 


(i) Without doing any calculation, find out

whose volume is greater?

Watch Video Solution

19. What is the ratio of volume to surface area

of sphere?

https://dl.doubtnut.com/l/_SUHHO4iSjq32
https://dl.doubtnut.com/l/_xjIq0vjZqbh1


Watch Video Solution

20. The relationship between the height and

radius of the hemisphere is ____.

Watch Video Solution

21. The volume of a sphere is the product of its

surface area and ………..

Watch Video Solution

https://dl.doubtnut.com/l/_xjIq0vjZqbh1
https://dl.doubtnut.com/l/_2XVq98722mf1
https://dl.doubtnut.com/l/_Zc7FEjNsgc2v


Exercise 7 1

1. The radius and height of a cylinder are in the

ratio 5 : 7 and its curved surface area is 5500

sq. cm. Find its radius and height.

Watch Video Solution

2. A solid iron cylinder has total surface area of

1848 sq.m. Its curved surface area is five -sixth

of its total surface area. Find the radius and

height of the iron cylinder.

https://dl.doubtnut.com/l/_Q6sGHGBpaWPZ
https://dl.doubtnut.com/l/_tkzUrrYGGf9X


Watch Video Solution

3. The external radius and the length of a

hollow wooden log are 16 cm and 13 cm

respectively. If its thickness is 4 cm then find

its T.S.A.

Watch Video Solution

4. A right angled triangle PQR where

 is rotated about QR and PQ. If∠Q = 90∘

https://dl.doubtnut.com/l/_tkzUrrYGGf9X
https://dl.doubtnut.com/l/_kueGTVReJ2K5
https://dl.doubtnut.com/l/_PWGf0xrNIK1m


QR=16 cm and PR=20 cm, compare the curved

surface areas of the right circular cones so

formed by the triangle.

Watch Video Solution

5. 4 person live in a conical tent whose slant

height is 19 cm. If each person require 

of the floor area, then find the height of the

tent.

Watch Video Solution

22cm2

https://dl.doubtnut.com/l/_PWGf0xrNIK1m
https://dl.doubtnut.com/l/_IEF9qyMCNto8
https://dl.doubtnut.com/l/_QQpjwUkzwP65


6. A girl wishes to prepare birthday caps in the

form of right circular cones for her birthday

party, using a sheet of paper whose area is

, how many caps can be made with

radius 5 cm and height 12 cm.

Watch Video Solution

5720cm2

7. The ratio of the radii of two right circular

cones of same height is 1 : 3. Find the ratio of

their curved surface area when the height of

https://dl.doubtnut.com/l/_QQpjwUkzwP65
https://dl.doubtnut.com/l/_NUGkcX64Zpw0


each cone is 3 times the radius of the smaller

cone.

Watch Video Solution

8. The radius of a sphere increases by 25% .

Find the percentage increase in its surface

area.

Watch Video Solution

https://dl.doubtnut.com/l/_NUGkcX64Zpw0
https://dl.doubtnut.com/l/_HBU6TyMs6zQH


9. The internal and external diameters of a

hollow hemispherical vessel are 20 cm and 28

cm respectively. Find the cost to paint the

vessel all over at Rs. 0.14 per .

Watch Video Solution

cm2

10. The frustum shaped outer portion of the

table lamp has to be painted including the top

part. Find the total cost of painting the lamp if

https://dl.doubtnut.com/l/_NsmHvKNkX7hu
https://dl.doubtnut.com/l/_DjOfCBs0Gg85


Exercise 7 2

the cost of painting 1 sq. cm is Rs. 2. 

Watch Video Solution

https://dl.doubtnut.com/l/_DjOfCBs0Gg85
https://dl.doubtnut.com/l/_NMg3v431Lvnp


1. A 14 m deep well with inner diameter 10 m is

dug and the earth taken out is evenly spread

all around the well to form an embankment of

width 5 m. Find the height of the

embankment.

Watch Video Solution

2. A cylindrical glass with diameter 20 cm has

water to a height of 9 cm. A small cylindrical

metal of radius 5 cm and height 4 cm is

https://dl.doubtnut.com/l/_NMg3v431Lvnp
https://dl.doubtnut.com/l/_WfrxOX2L3EAt


immersed it completely. Calculate the raise of

the water in the glass ?

Watch Video Solution

3. If the circumference of a conical wooden

plece is 484 cm then find its volume when its

height is 105 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_WfrxOX2L3EAt
https://dl.doubtnut.com/l/_v7sj2BmH0sy8


4. A conical container is fully filled with petrol.

The radius is 10 m and the height is 15 m. If the

container can release the petrol through its

bottom at the rate of 25 cu. Meter per minute,

in how many minutes the container will be

emptied. Round off your answer to the nearest

minute.

Watch Video Solution

https://dl.doubtnut.com/l/_gnCXhi54sgGK


5. A right angled triangle whose sides are 6

cm, 8 cm and 10 cm is revolved about the sides

containing the right angle in two ways. Find

the difference in volumes of the two soilds so

formed.

Watch Video Solution

6. The volumes of two cones of same base

radius are . Find the

ratio of heights.

3600cm3 and 5040cm3

https://dl.doubtnut.com/l/_B9rj8Xn5z6gC
https://dl.doubtnut.com/l/_Duk8skhn1lER


Watch Video Solution

7. If the ratio of radii of two speres is 4 : 7 , find

the ratio of their volumes.

Watch Video Solution

8. A solid sphere and a sloid hemisphere have

equal total surface area. Prove that the ratio

of their volume is .

Watch Video Solution

3√3: 4

https://dl.doubtnut.com/l/_Duk8skhn1lER
https://dl.doubtnut.com/l/_yksIhv9t77hT
https://dl.doubtnut.com/l/_pbC0nLNp5EVb


9. The outer and the inner surface areas of a

spherical copper shell are

 respectively. Find the

volume of the material required to make the

shell.

Watch Video Solution

576πcm2 and 324πcm2

10. A container open at the top is in the form

of a frustum of a cone of height 16 cm with

radii of its lower and upper ends are 8 cm and

https://dl.doubtnut.com/l/_tEWnBOf8gldR
https://dl.doubtnut.com/l/_KhM2CF7EC6Mp


Exercise 7 3

20 cm respectively. Find the cost of milk which

can completely fill a container at the rate of

Rs. 40 per litre.

Watch Video Solution

1. A vessel is in the form of a hemispherical

bowl mounted by a hollow cylinder. The

diameter is 14 cm and the height of the vessel

is 13 cm. Find the capacity of the vessel.

https://dl.doubtnut.com/l/_KhM2CF7EC6Mp
https://dl.doubtnut.com/l/_Svf5z3ePDrei


Watch Video Solution

2. Nathan, an engineering student was asked

to make a model shaped like a cylinder with

two cones attached at its two ends. The

diameter of the model is 3 cm and its length is

12 cm. If each cone has a height of 2 cm, find

the volume of the model that Nathan made.

Watch Video Solution

https://dl.doubtnut.com/l/_Svf5z3ePDrei
https://dl.doubtnut.com/l/_AhpD4IBz9hWD


3. From a solid cylinder whose height is 2.4 cm

and the diameter 1.4 cm, a cone of the same

height and same diameter is carved out. Find

the volume of the remaining solid to the

nearest .

Watch Video Solution

cm3

4. A solid consisting of a right circular cone of

height 12 cm and radius 6 cm standing on a

hemisphere of radius 6 cm is placed upright in

https://dl.doubtnut.com/l/_1ZMjXneOMC4M
https://dl.doubtnut.com/l/_klev4D7LLshF


a right circular cylinder full of water such that

it touches the bottom. Find the volume of the

water displaced out of the cylinder, if the

radius of the cylinder is 6 cm and height is 18

https://dl.doubtnut.com/l/_klev4D7LLshF


cm. 

Watch Video Solution

https://dl.doubtnut.com/l/_klev4D7LLshF
https://dl.doubtnut.com/l/_DuPVs8gbiK55


5. A capsule is in the shape of a cylinder with

two hemisphere stuck to each of tis ends. If

the length of the entire capsule is 12 mm and

the diameter of the capsule is 3 mm, how

much medicine it can hold ?

Watch Video Solution

6. As shown in figure a cubical block of side 7

cm is surmounted by a hemisphere. Find the

https://dl.doubtnut.com/l/_DuPVs8gbiK55
https://dl.doubtnut.com/l/_1H7SqlzRl9Q0


surface area of the solid. 

Watch Video Solution

https://dl.doubtnut.com/l/_1H7SqlzRl9Q0


7. A right circular cylinder just enclose a

sphere of radius r units. 

Calculate 

(i) the surface area of the sphere 

(ii) the curved surface area of the cylinder 

(iii) the ratio of the areas obtained in (i) and

(ii).

Watch Video Solution

https://dl.doubtnut.com/l/_TOgqSKP7sHgd


Exercise 7 4

8. A shuttle cock used for playing badminton

has the shape of a frustum of a cone is

mounted on a hemisphere. The diameters of

the frustum are 5 cm and 2 cm. The height of

the entire shuttle cock is 7 cm. Find its

external surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_qZVqFyrkEC6I


1. An aluminium sphere of radius 12 cm is

melted to make a cylinder of radius 8 cm. Find

the height of the cylinder.

Watch Video Solution

2. Water is flowing at the rate of 15 km per

hour through a pipe of diameter 14 cm into a

rectangular tank which is 50 m long and 44 m

wide. Find the time in which the level of water

in the tanks will rise by 21 cm.

https://dl.doubtnut.com/l/_gTrNpSV2JzEY
https://dl.doubtnut.com/l/_03kB7Z5uqjGH


Watch Video Solution

3. A conical flask is full of water. The flask has

base radius r units and height h units, the

water pured into a cylindrical flask of base

radius xr units. Find the height of water in the

cylindrical flask.

Watch Video Solution

4. A solid right circular cone of diameter 14 cm

and height 8 cm is melted to form a hollow

https://dl.doubtnut.com/l/_03kB7Z5uqjGH
https://dl.doubtnut.com/l/_2y48Vssk4bGe
https://dl.doubtnut.com/l/_96Ya3e4hAYtu


sphere. If the external diameter of the spere is

10 cm, find the internal diameter.

Watch Video Solution

5. Seenu's house has an overhead tank in the

shape of a cylinder. This is filled by pumping

water froma sump (underground tank) which

is in the shape of a cuboid. The sump has

dimensions . The overhead

tank has its radius of 60 cm and height 105 cm.

Find the volume of the water left in the sump

2m × 1.5m × 1m

https://dl.doubtnut.com/l/_96Ya3e4hAYtu
https://dl.doubtnut.com/l/_SL6oVx4ulaZl


after the overhead tank has been completely

filled with water from the sump which has

been full, initially.

Watch Video Solution

6. The internal and external diameter of a

hollow hemispherical shell are 6 cm and 10 cm

respectively. If it is melted and recast into a

solid cylinder of diameter 14 cm, then find the

height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_SL6oVx4ulaZl
https://dl.doubtnut.com/l/_ltLAmVUEujpU


7. A solid sphere of radius 6 cm is melted into

a hollow cylinder of uniform thickness. If the

external radius of the base of the cylinder is 5

cm and its height is 32 cm, then find the

thickness of the cylinder.

Watch Video Solution

8. A hemispherical bowl is filled to the brim

with juice. The juice is poured into a cylindrical

vessel whose radius is 50% more than its

https://dl.doubtnut.com/l/_ltLAmVUEujpU
https://dl.doubtnut.com/l/_OHIJl8ycIywA
https://dl.doubtnut.com/l/_ujMxKXc0a4vU


Exercise 7 5

height. If the diameter is same for both the

bowl and the cylinder then find the

percentage of juice that can be transferred

from the bowl into the cylindrical vessel.

Watch Video Solution

1. The curved surface area of a right circular

cone of height 15 cm and base diameter 16 cm

is

https://dl.doubtnut.com/l/_ujMxKXc0a4vU
https://dl.doubtnut.com/l/_p5EA6OsjcfDR


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60πcm2

68πcm2

120πcm2

136πcm2

2. If two solid hemispheres of same base

radius r units are joined together along their

https://dl.doubtnut.com/l/_p5EA6OsjcfDR
https://dl.doubtnut.com/l/_Eimkc6rYwZwv


bases, then curved surface area of this new

solid is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4πr2sq. units

6πr2sq. units

3πr2sq. units

8πr2sq. units

https://dl.doubtnut.com/l/_Eimkc6rYwZwv


3. The height of a right circular cone whose

radius is 5 cm and slant height is 13 cm will be

A. cm

B. cm

C. cm

D. cm

Answer: A

Watch Video Solution

12

10

13

5

https://dl.doubtnut.com/l/_cK8SmdYD39Sb
https://dl.doubtnut.com/l/_VADQ4Q63leGm


4. If the radius of the base of a right circular

cylinder is halved keeping the same height,

then the ratio of the volume of the cylinder

thus obtained to the volume of original

cylinder is

A. 

B. 

C. 

D. 

Answer: B

1: 2

1: 4

1: 6

1: 8

https://dl.doubtnut.com/l/_VADQ4Q63leGm


Watch Video Solution

5. The total surface area of a cylinder whose

radius is  of its height is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

sq. units
9πh2

8

24πh2sq. units

sq. units
8πh2

9

sq. units
56πh2

9

https://dl.doubtnut.com/l/_VADQ4Q63leGm
https://dl.doubtnut.com/l/_zwS7D6E1YgiB


6. In a hollow cylinder, the sum of the external

and internal radii is 14 cm and the width is 4

cm. If its height is 20 cm, the volume of the

material in it is

A. 

B. 

C. 

D. 

Answer: B

560πcm2

1120πcm3

56π

360π

https://dl.doubtnut.com/l/_zwS7D6E1YgiB
https://dl.doubtnut.com/l/_7C67bnM5F3Ih


Watch Video Solution

7. If the radius of the base of a cone is tripled

and the height is doubled then the volume is

A. made 6 times

B. made 18 times

C. made 12 times

D. unchanged

Answer: B

https://dl.doubtnut.com/l/_7C67bnM5F3Ih
https://dl.doubtnut.com/l/_IUkdGupKlGs6


Watch Video Solution

8. The total surface area of a hemi-sphere is

how much times the square of its radius.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

4π

3π

2π

https://dl.doubtnut.com/l/_IUkdGupKlGs6
https://dl.doubtnut.com/l/_upMF5BMw85eu


9. A solid sphere of radius x cm is melted and

cast into a shape of a solid cone of same

radius. The height of the cone is

A. 3 cm

B. cm

C. 4 cm

D. 2 cm

Answer: C

Watch Video Solution

x

x

x

x

https://dl.doubtnut.com/l/_upMF5BMw85eu
https://dl.doubtnut.com/l/_kAiRx5yntg3J


10. A frustum of a right circular cone is of

height 16 cm with radii of its ends as 8 cm and

20 cm. Then, the voume of the frustum is

A. 

B. 

C. 

D. 

Answer: A

3328πcm3

3228πcm3

3240πcm3

3340πcm3

https://dl.doubtnut.com/l/_kAiRx5yntg3J
https://dl.doubtnut.com/l/_V1sLuytCwowB


Watch Video Solution

11. A shuttle cock used for playing badminton

has the shape of the combination of

A. a cylinder and a sphere

B. a hemisphere and a cone

C. a sphere and a cone

D. frustum of a cone and a hemisphere

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_V1sLuytCwowB
https://dl.doubtnut.com/l/_m83VHEMkB2Bd


12. A spherical ball of radius  units is melted

to make 8 new identical balls each of radius 

units. Then  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r1

r2

r1 : r2

2: 1

1: 2

4: 1

1: 4

https://dl.doubtnut.com/l/_m83VHEMkB2Bd
https://dl.doubtnut.com/l/_wRNKlLB7eh9T


13. The volume (in  of the greatest sphere

that can be cut off from a cylindrical log of

wood of base radius 1 cm and height 5 cm is

A. 

B. 

C. 

D. 

Answer: A

cm3)

π
4

3

π
10

3

5π

π
20

3

https://dl.doubtnut.com/l/_wRNKlLB7eh9T
https://dl.doubtnut.com/l/_dYjY3lgZ5nrn


Watch Video Solution

14. The height and radius of the cone of which

the frustum is a part are  units and  units

respectively. Height of the frustum is  units

and radius of the smaller base is  units. If 

 is

A. 

B. 

C. 

D. 

h1 r1

h2

r2

h2 : h1 = 1: 2  then r2 : r1

1: 3

1: 2

2: 1

3: 1

https://dl.doubtnut.com/l/_dYjY3lgZ5nrn
https://dl.doubtnut.com/l/_0XLWYKXDdg3r


Answer: B

Watch Video Solution

15. The ratio of the volumes of a cylinder, a

cone and a sphere, if each has the same

diameter and same height is

A. 

B. 

C. 

D. 

1: 2: 3

2: 1: 3

1: 3: 2

3: 1: 2

https://dl.doubtnut.com/l/_0XLWYKXDdg3r
https://dl.doubtnut.com/l/_rzH4CqRrEKLs


Unit Exercise

Answer: D

Watch Video Solution

1. The barrel of a fountain-pen cylindrical in

shape, is 7 cm long and 5 cm in diameter. A full

barrel of ink in the pen will be used for writing

330 words on an average. How many words

can be written using a bottle of ink containing

one fifth of a litre ?

https://dl.doubtnut.com/l/_rzH4CqRrEKLs
https://dl.doubtnut.com/l/_pCsh22KE6png


Watch Video Solution

2. A hemi-spherical tank of radius 1.75 m is full

of water. It is connected with a pipe which

empties the tank at the rate of 7 litre per

second. How much time will it take to empty

the tank completely ?

Watch Video Solution

https://dl.doubtnut.com/l/_pCsh22KE6png
https://dl.doubtnut.com/l/_44XPYvKhO5iI


3. Find the maximum volume of a cone that

can be carved out of a solid hemisphere of

radius r units.

Watch Video Solution

4. An oil funnel of tin sheet consists of a

cylindrical portion 10 cm long attached to a

frustum of a cone. If the total height is 22 cm,

the diameter of the cylindrical portion be 8 cm

and the diameter of the top of the funnel be

https://dl.doubtnut.com/l/_ET6weomBg49Y
https://dl.doubtnut.com/l/_XA2w9fVYdidy


18 cm, then find the area of the tin sheet

required to make the funnel.

Watch Video Solution

5. Find the number of coins, 1.5 cm in diameter

and 2 mm thick, to be melted to form a right

circular cylinder of height 10 cm and diameter

4.5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_XA2w9fVYdidy
https://dl.doubtnut.com/l/_clyoT1DXSv2C


6. A hollow metallic cylinder whose external

radius is 4.3 cm and internal radius is 1.1 cm

and whole length is 4 cm is melted and recast

into a solid cylinder of 12 cm long. Find the

diameter of solid cylinder.

Watch Video Solution

7. The slant height of a frustum of a cone is 4

m and the perimeter of circular ends are 18 m

https://dl.doubtnut.com/l/_OVUhyKA51NsH
https://dl.doubtnut.com/l/_1wxCYi62hP1f


and 16 m. Find the cost of painting its curved

surface area at Rs 100 per sq. m.

Watch Video Solution

8. A hemi-spherical hollow bowl has material of

volume  cubic cm. Its external diameter

is 14 cm. Find its thickness.

Watch Video Solution

436π

3

https://dl.doubtnut.com/l/_1wxCYi62hP1f
https://dl.doubtnut.com/l/_fAKCeO7AOqhg


9. The volume of a cone is  cu. Cm. The

area of its base is  sq. cm. Find the slant

height of the cone.

Watch Video Solution

1005
5

7

201
1

7

10. A metallic sheet in the form of a sector of a

circle of radius 21 cm has central angle of 

. The sector is made into a cone by bringing

the bounding radii together. Find the volume

of the cone formed.

216∘

https://dl.doubtnut.com/l/_C9BDuodbIjgf
https://dl.doubtnut.com/l/_oQtrqPwmtO8y


Additional Questions Solved

Watch Video Solution

1. The curved surface area of a right circular

cylinder of radius 1cm and height 1cm is equal

to ……… .

A. 

B. 

C. 

D. 

πcm2

2πcm2

3πcm2

2cm2

https://dl.doubtnut.com/l/_oQtrqPwmtO8y
https://dl.doubtnut.com/l/_QEzY0VYXdXnX


Answer: B

Watch Video Solution

2. The total surface area of a solid right

circular cylinder whose radius is helf of its

height  is equal of ………. Sq.units.

A. 

B. 

C. 

D. 

h

πh
3

2

πh22

3

πh23

2

πh
2

3

https://dl.doubtnut.com/l/_QEzY0VYXdXnX
https://dl.doubtnut.com/l/_9wyZQvacU61f


Answer: C

Watch Video Solution

3. Base area of a right circular cylinder is

. If its height is 5 cm, then the volume is

equal to ……….. .

A. 

B. 

C. 

D. 

80cm2

400cm3

16cm3

200cm3

cm3400

3

https://dl.doubtnut.com/l/_9wyZQvacU61f
https://dl.doubtnut.com/l/_nV0NU3COQuzZ


Answer: A

Watch Video Solution

4. If the total surface area of a solid right

circular cylinder is  and its radius is 5

cm, then the sum of its height and radius is

…………… .

A. 20cm

B. 25cm

C. 30cm

200πcm2

https://dl.doubtnut.com/l/_nV0NU3COQuzZ
https://dl.doubtnut.com/l/_Rpe3132sA6TU


D. 15cm

Answer: A

Watch Video Solution

5. The curved area of a right circular cylinder

whose radius is  units and height is  units, is

equal to ………. .

A. 

B. 

a b

πa2bsq. cm

2πabsq. cm

https://dl.doubtnut.com/l/_Rpe3132sA6TU
https://dl.doubtnut.com/l/_IEYI1EB8cXMQ


C. 

D. 

Answer: B

Watch Video Solution

2πsq. cm

2sq. cm

6. Radius and height of a right circular cone

and that of a right circular cylinder are

respectively, equal. If the volume of the

cylinder is , then the volume of the

cone is equal to ……… .

120cm3

https://dl.doubtnut.com/l/_IEYI1EB8cXMQ
https://dl.doubtnut.com/l/_v5yMhx7Llpb0


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1200cm3

360cm3

40cm3

90cm3

7. If the diameter and height of a right circular

cone are 12 cm and 8 cm respectively, then the

slant height is ……….

https://dl.doubtnut.com/l/_v5yMhx7Llpb0
https://dl.doubtnut.com/l/_Xwpb3MxLmBf2


A. 10cm

B. 20cm

C. 30cm

D. 96cm

Answer: A

View Text Solution

8. If the circumference at the base of a right

circular cone and the slant height are cm120π

https://dl.doubtnut.com/l/_Xwpb3MxLmBf2
https://dl.doubtnut.com/l/_Ro645xXfaq10


and 10cm respectively, then the curved suface

area equal to ……… .

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1200πcm2

600πcm2

300πcm2

300cm2

https://dl.doubtnut.com/l/_Ro645xXfaq10


9. If the volume and the base area of a right

circular cone are  and 

respectively, then the height of the cone is

equal to …………. .

A. 6cm

B. 8cm

C. 10cm

D. 12cm

Answer: D

View Text Solution

48πcm3 12πcm2

https://dl.doubtnut.com/l/_x2dI3K9mn6JC


View Text Solution

10. If the height and the base area of a right

circular cone are 5cm and 48sq.cm

respectively. Then the volume of the cone is

equal to……… .

A. 

B. 

C. 

D. 

240cm3

120cm3

80cm3

480cm3

https://dl.doubtnut.com/l/_x2dI3K9mn6JC
https://dl.doubtnut.com/l/_3TkEW5zbTEZB


Answer: C

View Text Solution

11. The ratios of the respective height and the

respective radii of two cylinder are  and 

 respectively. Then their respective

volumes are in the ratio …….. .

A. 

B. 

C. 

1: 2

2: 1

4: 1

1: 4

2: 1

https://dl.doubtnut.com/l/_3TkEW5zbTEZB
https://dl.doubtnut.com/l/_4Qu1gQqPfO7A


D. 

Answer: C

Watch Video Solution

1: 2

12. If the radius of a sphere is 2cm, then the

curved surface area of the sphere is equal to

……. .

A. 

B. 

8πcm2

16cm2

https://dl.doubtnut.com/l/_4Qu1gQqPfO7A
https://dl.doubtnut.com/l/_Jy1KNOxFYwo2


C. 

D. 

Answer: D

Watch Video Solution

12πcm2

16πcm2

13. The total surface area of a solid

hemisphere of diameter 2cm is equal to ………

A. 

B. 

12cm2

12πcm2

https://dl.doubtnut.com/l/_Jy1KNOxFYwo2
https://dl.doubtnut.com/l/_ESVhAlMLyGL2


C. 

D. 

Answer: D

View Text Solution

4πcm2

3πcm2

14. If the volume of a sphere is  then

its radius is ……… .

A. 

B. 

πcu. cm
9

6

cm
4

3

cm
3

4

https://dl.doubtnut.com/l/_ESVhAlMLyGL2
https://dl.doubtnut.com/l/_9dHC2HDNZBY7


C. 

D. 

Answer: B

View Text Solution

cm
3

2

cm
2

3

15. The surface area of two sphere are in the

ratio of  then their volume are in the

ratio …….. .

A. 

9: 25

81: 625

https://dl.doubtnut.com/l/_9dHC2HDNZBY7
https://dl.doubtnut.com/l/_Nl4ElKXYYJP7


B. 

C. 

D. 

Answer: D

View Text Solution

729: 15625

27: 75

27: 125

16. The total surface area of a solid

hemisphere whose radius is  units, is equal to

…………. .

a

https://dl.doubtnut.com/l/_Nl4ElKXYYJP7
https://dl.doubtnut.com/l/_jGdrm8gbMeCW


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2πa2sq. units

3πa2sq. units

3πasq. units

3a2sq. units

17. If the surface area of a sphere is ,

then its radius is equal to ……. .

100πcm2

https://dl.doubtnut.com/l/_jGdrm8gbMeCW
https://dl.doubtnut.com/l/_7FHZWqbEk1oL


A. 25 cm

B. 100 cm

C. 5 cm

D. 10 cm

Answer: C

View Text Solution

18. If the surface area of a sphere is ,

then the volume of the sphere is equal to

………… .

36πcm2

https://dl.doubtnut.com/l/_7FHZWqbEk1oL
https://dl.doubtnut.com/l/_Axn4Uu6KB3zM


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

12πcm3

36πcm3

72πcm3

108πcm3

19. If the total surface area of a solid

hemisphere is  then its curved surface

area is equal to ………. .

12πcm2

https://dl.doubtnut.com/l/_Axn4Uu6KB3zM
https://dl.doubtnut.com/l/_vOdLQzU2EC3c


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6πcm2

24πcm2

36πcm2

8πcm2

20. If the radius of a sphere is half of the

radius of another sphere, then their respective

volumes are in the ratio ………… .

https://dl.doubtnut.com/l/_vOdLQzU2EC3c
https://dl.doubtnut.com/l/_RkHYAyL2YTh9


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 8

2: 1

1: 2

8: 1

21. Curved surface area of a solid sphere is

. If the the sphere is divided into two24cm2

https://dl.doubtnut.com/l/_RkHYAyL2YTh9
https://dl.doubtnut.com/l/_l95DDo4HWbtx


hemisphere, then the total surface area of one

of the hemisphere is ……… .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12cm2

8cm2

16cm2

18cm2

https://dl.doubtnut.com/l/_l95DDo4HWbtx


22. Two right circular cones have equal radii. If

their slant height are in the ratio , then

their respective curved surface areas are in the

ratio ………. .

A. 

B. 

C. 4:3

D. 

Answer: C

Watch Video Solution

4: 3

16: 9

2: 3

3: 4

https://dl.doubtnut.com/l/_dGohCdkALuwL


Watch Video Solution

23. If a rectangle of length 8 cm breadth 4 cm

is folded by bringing their breadths together

to form a cylinder, then the height of the

cylinder thus formed is ………. .

A. 6 cm

B. 2 cm

C. 8 cm

D. 4 cm

https://dl.doubtnut.com/l/_dGohCdkALuwL
https://dl.doubtnut.com/l/_npxxAAlGINag


Answer: D

View Text Solution

24. The number of solid spheres, each of

diameter 6 cm that can be made by melting a

solid metal cylinder. It height 45 cm and

diameter 4 cm is …………. .

A. 3

B. 4

C. 5

https://dl.doubtnut.com/l/_npxxAAlGINag
https://dl.doubtnut.com/l/_t8kWm2YES5Bj


D. 6

Answer: C

View Text Solution

25. A rectangular sheet of paper 

is rolled to form a hollow cylinder of height 40

cm. The radius of the cylinder ( in cm ) is …………

.

A. 3.5 cm

40cm × 22cm

https://dl.doubtnut.com/l/_t8kWm2YES5Bj
https://dl.doubtnut.com/l/_YSB3ys5VJsjT


Additional Questions Solved Ii

B. 7 cm

C. 

D. 5 cm

Answer: A

Watch Video Solution

cm
80

7

1. A mansion has 12 right cylindrical pillars

each having radius 50 cm and height 3.5m.

https://dl.doubtnut.com/l/_YSB3ys5VJsjT
https://dl.doubtnut.com/l/_oL62LWwOAVGq


Find the cost to painting the surface of the

pillares at Rs 20 per square metre.

Watch Video Solution

2. The total surface area of a solid right

circular cylinder is . If the height is

four times the radius of the base, then find the

height of the cylinder.

Watch Video Solution

1540cm2

https://dl.doubtnut.com/l/_oL62LWwOAVGq
https://dl.doubtnut.com/l/_gaFGTZKbT1nh


3. The central angle and radius of a sector of a

circular disc are  and 21 cm respectively. If

the edges of the sector are joined together to

make a hollow cone, then find the radius of

the cone.

Watch Video Solution

180∘

4. If the curved surface area of a solid

hemisphere is 2772 sq.cm, then find its total

surface area.

https://dl.doubtnut.com/l/_2Ko6e0E2z3un
https://dl.doubtnut.com/l/_d9LKTYKPBTht


Watch Video Solution

5. A inner curved surface area of a

hemispherical dome of a building needs to be

painted. If the circumference of the base is

17.6m, find the cost of painting it at the rate of

Rs 5 per sq.m.

Watch Video Solution

6. Volume of a solid cylinder is .

Find the radius if its height is 4.5cm.

62.37cucm

https://dl.doubtnut.com/l/_d9LKTYKPBTht
https://dl.doubtnut.com/l/_95dmf3OmJ2v3
https://dl.doubtnut.com/l/_NTjW3DJbvWSn


Watch Video Solution

7. A rectangular sheet of metal foil with

dimension  is rolled to form of a

cylinder of height 12cm. Find the volume of the

cylinder.

Watch Video Solution

66cm × 12cm

8. The circumference of the base of a 12m high

wooden solid cone is 44m. Find the volume.

https://dl.doubtnut.com/l/_NTjW3DJbvWSn
https://dl.doubtnut.com/l/_bBM4CoMPnzMa
https://dl.doubtnut.com/l/_KLV3x0CNfJUm


Watch Video Solution

9. Find the volume of the largest right circular

cone that can be cut out of a cube whose edge

is 14 cm.

Watch Video Solution

10. The thickness of a hemispherical bowl is

0.25cm. The inner radius of the bowl is 5cm.

Fiind the outer curved surface area of the

bowl.(Take  )π =
22

7

https://dl.doubtnut.com/l/_KLV3x0CNfJUm
https://dl.doubtnut.com/l/_vRUUSZfVaYSD
https://dl.doubtnut.com/l/_dR9SzwNM2ZFh


Watch Video Solution

11. A right circular cylinder just enclose a

sphere of radius r units. 

Calculate 

(i) the surface area of the sphere 

(ii) the curved surface area of the cylinder 

(iii) the ratio of the areas obtained in (i) and

(ii).

Watch Video Solution

https://dl.doubtnut.com/l/_dR9SzwNM2ZFh
https://dl.doubtnut.com/l/_F2Xy88fjgRCQ
https://dl.doubtnut.com/l/_Gd7QEMljQzLN


12. A shopkeeper has one spherical laddoo of

radius 5cm. Which the same amount of

meterial. How many laddoos of radius 2.5cm

can be made?

Watch Video Solution

13. The radii of the bases of two right circular

solid cones of same height are  and 

respectively. The cones are melted and recast

into a solid sphere of Radius ''R'' show the

height of the cone is given by 

r1 r2

h =
4R3

r2
1 + r2

2

https://dl.doubtnut.com/l/_Gd7QEMljQzLN
https://dl.doubtnut.com/l/_B1jion8IECjj


Additional Questions Solved Iii

Watch Video Solution

14. The radius and height of a cylinder are in

the ratio . If the curved surface area of the

cylinder is 352 sq.cm. Find its radius.

Watch Video Solution

2: 7

https://dl.doubtnut.com/l/_B1jion8IECjj
https://dl.doubtnut.com/l/_w0ARNF4SYhHv


1. A vessel is in the form of a hemispherical

bowl mounted by a hollow cylinder. The

diameter is 14 cm and the height of the vessel

is 13 cm. Find the capacity of the vessel.

Watch Video Solution

2. A medicine capsule is in the shape of a

cylinder with two hemisphere struck to each of

its ends. The length of the entire capsule is 14

https://dl.doubtnut.com/l/_xa1z8FG9WDlw
https://dl.doubtnut.com/l/_9490hngq6ZC7


mm and the diameter of the capsule is 5 mm.

Find its surface area

Watch Video Solution

3. From a solid cylinder whose height is 2.4 cm

and the diameter 1.4 cm, a cone of the same

height and same diameter is carved out. Find

the volume of the remaining solid to the

nearest .

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_9490hngq6ZC7
https://dl.doubtnut.com/l/_7uoKSCxo3RNT
https://dl.doubtnut.com/l/_WOSAeF7eZNKL


4. A 20m deep well with distance 7m is dug

and the earth from digging is evenly spread

out to form a platform 22 m by 14 m. Find the

height of the platform.

Watch Video Solution

5. The perimeters of the ends of frustum of a

cone are 207.24cm nd 169.56cm. If the height

of the frustum be 8 cm, find the whole surface

area of the frustum. [Use ]

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_WOSAeF7eZNKL
https://dl.doubtnut.com/l/_LPFLRYU0Fy04


6. Spherical shaped marbles of diameter 1.4cm

each, are dropped into a cylindrical beaker of

diameter 7cm containing some water. Find the

number of marbles that should be dropped

into the beaker so that the water level rises by

5.6cm.

Watch Video Solution

https://dl.doubtnut.com/l/_LPFLRYU0Fy04
https://dl.doubtnut.com/l/_lyPSLxL2ZzUF


7. The perimeters of the ends of a frustum of a

cone are 44 cm and . If the depth is 14

cm., then find its volume.

Watch Video Solution

8.4πcm

8. A tent is in the shape of a right circular

cylinder surmounted by a cone. The total

height and the diameter of the base are 13.5m

and 28m. If the height of th cylindrical portion

is 3m, Find the total surface area of the tent.

https://dl.doubtnut.com/l/_vm0Y1OHkHtAk
https://dl.doubtnut.com/l/_4jU2u4A1kQQX


Watch Video Solution

https://dl.doubtnut.com/l/_4jU2u4A1kQQX

